




















x (h.$l&l) 11Plas1~u  X’ =4-x7

bl b b3 b, b2 b3

3 6 12 1.87 2.55 3.54

0 4 6 .71 2.12 2.55

4 2 6 2.12 1.58 2.55

2 4 1 0 1.58 2.12 3.24

2 7 6 1.58 2.74 2.55

x = 2.2 4.6 8.0 1.57 2.22 2.89

9 = 2.2 3.4 8.0 .28 .20 .22

(2) Logarithmic Transformation

9a”tbo~irnsj~aosS~ni48la~~si7~~~~a~~~~~~~sau~~4~~pr  hh

X’  = Log1 ox ,& X’  = Loglo(x  + 1)

(3) Reciprocal Transformation

%Q~da~aa,(a”lw”ril~~~~~~~~~l~nau~~~~~~asaiilr~a~~~~~LYUBI1WS~lU  ILRU~

X’ = 1/x &I X’ = l/(X + 1)
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b = 0.2 1.56 1.30 1.13 1

b = 0.7 1.12 1.06 1.03 1
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